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Direction (1 — 7): e=faf@a d&ar @er & ared qg A Hifaiw:

Q1.5, 86, 174, 276, 399, 558, 736
(a) 276

(b) 736

(c) 558

(d) 86

(e) 399

L1Difficulty 3

Qtags Wrong Series

QCreator AYUSH PANDEY

Q2.9, 45, 6.5, 14, 57, 457, 7313
(a) 4.5

(b) 57

(c) 457

(do9

(e) 7313

L1Difficulty 3

Qtags Wrong Series

QCreator AYUSH PANDEY

Q3.1728, 998, 1511, 1167, 1384, 1260, 1323
(a) 998

(b) 1511

(c) 1323

(d) 1167

(e) 1260

L1Difficulty 3

Qtags Wrong Series

QCreator AYUSH PANDEY

Q4. 2.5, 60, 720, 4320, 12960, 19480, 14580
(a) 720
(b) 4320
(c) 12960
(d)19480



(e) 14580

L1Difficulty 3

Qtags Wrong Series
QCreator AYUSH PANDEY

Q5.11.5, 34, 58, 85, 116.5, 154, 200
(a) 200

(b) 85

(c)116.5

(d) 154

(e) 34

L1Difficulty 3

Qtags Wrong Series

QCreator AYUSH PANDEY

Q6. 810, 820,832, 868,1012,1732, 6052
(a) 6052

(b) 810

(c) 868

(d) 832

(e) 1732

L1Difficulty 3

QTags Wrong Series

QCreator SHIVAM JINDAL

Q7.1024, 350, 832, 508, 704, 604, 640
(a) 1024

(b) 640

(c) 704

(d) 350

(e) 508

L1Difficulty 4

QTags Wrong Series

QCreator SHIVAM JINDAL

Directions (8 -15): 348 & YA$ T H,ar Feawor (1) 3R (1) G v & a=t
THIRIOT & g A 3R IR GISIT-

() 3Iigx>y

(b) TTx=y

() 3Ife x<y

(d) 3Iig x<y

(e) IEx=yaA xR y& <g FI day AT AT AT S FohedT B



Q8. (i)8x*+18x-11=0
(i) 4y* + 17y +15=0

L1Difficulty 3

QTags Quadratic Inequalities

QCreator AYUSH PANDEY

Q9. (i) 3x*-32x+64=0

(i) y*-17y+72=0
L1Difficulty 3
QTags Quadratic Inequalities
QCreator AYUSH PANDEY

Q10. (i) 2x*+8x-24=0
(i) y*+ 13y +42=0

L1Difficulty 3

QTags Quadratic Inequalities

QCreator AYUSH PANDEY

Q11. (i)2x*-15x+22=0
(i) 3y - 21y +18=0

L1Difficulty 3

QTags Quadratic Inequalities

QCreator AYUSH PANDEY

Q12. () x*-30x+144=0
(ii) y* - 50y + 624 =0

L1Difficulty 3

QTags Quadratic Inequalities

QCreator AYUSH PANDEY

Q13. (i).2x*-23x+56=0
(ii). 3y*- 14y + 15 =0
L1Difficulty 3

QTags Quadratic Inequalities
QCreator AYUSH PANDEY

Q4. () 7 —=+4=0

14 11

=42 ===

(ii) = + .
L1Difficulty 3

QTags Quadratic Inequalities
QCreator AYUSH PANDEY

Q15. () 6x*-17x+10=0



(ii) 5y* - 28y + 15=0
L1Difficulty 3
QTags Quadratic Inequalities
QCreator AYUSH PANDEY

Solutions
S1. Ans(c)
Sol.
Wrong number = 558
5 86 174 276 399 736
I Al 4 4| 4| 4
+81 +55 +102 +123 +151 +186
l il il #l 4| )
+7 +14 +21 +28 +35

So, there should be 550 instead of 558.

S2. Ans(a)

Sol.

Wrong number = 4.5

9 5.5 6.5 14 57 457 7313
I Ly A A Al o 4

x(0.5+1 x1+1 x2+1 x4+7 x8+1 x16+1
So, there should be 5.5 instead of 4.5.

S3. Ans(e)
Sol.
Wrong number = 1260

1728 998 1511 1167 1384 1258 1323
I i A 4 A A 4
730 +513 344 4217 126 +65

[ R N

-(9°+1)  +(&+1) -(7°+1)  +H(63+1) -(53+1) +(4°+1)
So, there should be 1258 instead of 1260

S4. Ans(d)

Sol.

Wrong number = 19480
Pattern of series -

2.5%x 24 =60

60x12 =720

720 X 6 = 4320



4320 x 3 = 12960
12960 x 1.5 = 19440
19440 x 0.75 = 14580

So, there should be 19440 instead of 19480.

S5. Ans(a)
Sol.
Wrong number = 200

115 34 58 85 116.5 154 199

I I I I I I |
+225  +24  +27  +315 +375  +45

I I I I I |

+1.5 +3 +4.5 +6 +7.5
So, there should be199 instead of 200.

S6. Ans.(b)

Sol. Wrong number = 810

Pattern of series -

820 832 868 1012 1732 6052

6 +12 +36 +144 +720 +4320

x 2 x 3 x 4 x5 X 6
So, there should be 814 in place of 810.

S7. Ans.(d)
Sol. Wrong number = 350
Pattern of series -

1024 348 832 50|8 7(ﬁ1 60|4|1 64|0
| | |

-676 +484 -324 +196 -100 +36

I R N

(26)2 (22)2 (18)2 (14)2 (10)2 (6)2
So, there should be 348 in place of 350.

S8. Ans(e)
(i)8x*+ 18x-11=0
8x2 +22x -4x-11=0
2x (4x+11)-1(4x+11)=0
(4x+11)(2x-1)=0



11 1
B
(i) 4y* + 17y +15=0
4y2+ 12y +5y+15=0
4y (y +3)+5(y+3)=0
(y+3)(4y+5)=0
B 5
y=-3,—3
No relation

S9. Ans (d)
()3x*-32x+64=0
3x2-24x-8x+64=0
3x(x-8) -8(x-8)=0
(x-8)(3x-8)=0
X=8,§
(i)y*-17y+72=0
y2-8y-9y+72=0
y(y-8)-9(y-8)=0
-8(y-9)=0
y=8,9

X <y

S10. Ans(b)
(i)2x* +8x-24=0
2x2 +12x-4x-24=0
2x(x+6)-4(x+6)=0
(2x-4)(x+6)=0
Xx=2,-6
(i) y*+13y+42=0
y2+7y+6y+42=0
y(y+7)+6(y+7)=0
(y+7) (y+6)=0
y=-6,-7
X2y

S11. Ans (e)
(i) 2x*-15x+22=0
2x2 -11x-4x+22=0
X(2x-11)-2(2x-11)=0
x-2)(2x-11)=0
x=2,55
(i) 3y*- 21y +18=0
3y2-18y-3y+18=0
3y (y-6)-3(y-6)=0



(3y-3)(y-6)=0
y=1,6
No relation

S12. Ans(d)

)] x*-30x+144=0
X2-24x-6x+144=0
x(x-24)-6(x-24)=0
(x-24)(x-6)=0
x=24,6

(i) y*-50y+624=0
y2 - 24y -26y+624=0
y(y-24)-26(y-24)=0
(y-24)(y-26)=0
y=24,26

X <y

S13. Ans.(a)

Sol.

.2x*-23x+56=0

2x%-7x-16x+56=0

x(2x-7)-8(2x-7)=0

(x-8)(2x-7)=0

X = 8,%

I1.3y%- 14y + 15 =0

3y?-5y-9y+15=0

y(3y - 5)-3(3y-5)=0
5

y =33

LX>Y

S14. Ans. (d)
Sol.

X
= 4x2—-13x+10=0
= 4x?>—-8x—-5x+10=10
4x (x—2)—5x—-2)=0
(4x-5)(x—-2)=0

5

:—,2
XT3



=>2y?— 11y +14=0

=2y — Ty — 4y +14 =0

=>yQRy—-7)—2Qy—-7)=0
7

= 2’—
y 2

S15. Ans.(e)

Sol.

. 6x*-17x+10=0
6x?-12x-5x+10=0
6x (x-2)-5(x-2)=0
x=2,5/6

II. 5y*-28y+15=0
5y?-25y-3y+15=0
Sy(y-5)-3(-5)=0
y=5,3%
~ No relation



